Dilsen-Stokkem *** BEAU BRIDGE CLUB *** BBC-COMPETITIE 2019 *** 4 giften per ronde *** NZ OW| gift 1 NZ OW gift 2 NZ OW gift 3 NZ OW gift 4 NZ OW
1 Venken Olga-Dewael Albert 2 Houben Marc-Beckers Hilde 1 2 10 4 170 N3H+1 1 13 100 O1N-2 10 4 420 N4S= 7 7 -650 W4H+1
3 Sliepen Arnold-Coolen Raymond 4 Kurent Annie-Paes Pascale 15 16 4 10 -100 Ngs_é 13 1 170 N3HJ1 4 10 -50 Z3N-1 2 12 -680 W4SJ
5 Paredis Rina-Plessers Julia 6 Rietjens Jac-Van Dynhoven Lambert 10 11 13 1 420 Z4H=‘ 4 10 110 N2H= 1 13 -100 Z4H12 12 2 -620 W4S;
7 Peeters Irene-Wynants Marie-Claire 8 Lemaire Jack-Jehoul Piet - 13 1 420 NdH= 1 13 100 W3S-2 6 8 140 Z2H+1 12 2 -620 WAS=
9 Witters Clement-Op "t Eyndt Lizette 10 Dezaire Josee-Theunissen Bett \ \
11 Kerkhoff Ans—JooZten Hani 12 Male Charley-Van Hoey AngelinZ 3 12 4 10 -100 ZSN_% 104 150 WSS_% 104 420 Nas= 12 2 -620 W4Si
13 Opdenacker Jef-Vercruysse Roger 14 Pilet Josee-Molenaers Anne 13 6 4 10 -100 Z4H_% 13 1 170 N2H+2 14 0 450 NaH+1 12 -680 W4Sﬁ
15 Reyskens Andre-Hubrechts Arthur 16 Vandenbroek Theo-Dirickx Anny 9 14 4 10 -100 N4H'2‘ 7 7 140 N3H= 10 4 420 z4H= 12 -680 W4Sﬁ
8 4 10 -100 Z2N-2 7 7 140 N3H= 1 13 -100 Z4H-2 7 7 -650 WAS+1
NZ Ow| gift 5 NZ oW gift 6 NZ OW gift 7 NZ OW gift 8 NZ OW NZ Ow| gift 9 NZ Ow gift 10 NZ OW gift 11 NZ oW gift 12 NZ OW
3 4 6 8 -120 WIN+1 8 6 100 01K-1 12 2 200 W4H-2 10 4 -100 N5R-2 5 11 3 -110 W2R+1 10 4 -130 W2R+2 3 11 -100 N2N-2 7 7 120 ZIN+1
12 15 6 8 -120 W1N+f 1 13 -90 OlN; 6 8 100 W4H—f 3 11 -200 WSSJZ 14 1 11 -150 03R+E 14 0 100 OZle 14 130 N4R; niet gespeeld
16 13 14 0 150 W3NJ3 8 6 100 OlN—f 1 13 -200 23812 7 7 -170 W3$+f 8 15 8 -130 W3R+f 12 2 -120 OZN; 12 2 110 NSRQ 11,6 2,4 600 Z3N=
9 12 2 -100 Nlel 1 13 -90 OlN; 12 200 W4H12 7 7 -170 WZS+£ 16 11 14 -600 WSRJ 6 8 -200 N3$—£ 10 100 O4S—£ 13,9 0,1 630 ZSNJ
5 14 8 -120 W2N= 8 6 100 OlN—f 12 200 W4H12 14 0 130 N3RJ1 2 3 11 -150 W2R+§ 4 10 -600 O3N= 7 -50 N4R—f 7 7 120 ZZN:‘
8 12 -180 WIN+3 8 6 100 OlN—f 6 8 100 W4H—f 3 11 -200 WZSJ3 10 11 3 -110 WSRJ 8 6 -170 03s+1 7 -50 N3N—f 1,3 12,7 -100 Z3N-
11 14 -200 N1N12 8 6 100 OlH—f 1 13 -200 ZZSJZ 12 2 0 PAS 13 4 11 3 -110 WSRJ 2 12 -630 03NJ1 3 11 -100 N3N121,3 12,7 -100 ZSNJ
7 10| 10 4 -110 W3R=‘ 14 0 200 01N42 6 8 100 W4H—£ 0 14 -420 w4s= 9 12 11 3 -110 W3R% 0 14 -660 OSN#Z 0 14 -140 OSH% 7 7 120 ZlN+£
NZ OW | gift 13 NZ OwW gift 14 NZ OW gift 15 NZ OwW gift 16 NZ OW NZ OW | gift 17 NZ OwW gift 18 NZ OW gift 19 NZ OwW gift 20 NZ OW
8 6 100 O3H-1 13 1 400 N3N= 8 6 100 w2s-2 13 1 110 Z3R= 9 10 8 6 -150 W2N+1 O 14 -300 Z3N-3 O 14 -50 N3N-111,6 2,4 650 Z4H+
10 -100 ZSS—f 7 7 170 ZZH+£ 5 9 50 WZS—f 8 6 100 WSS—f 3 11 -400 WSNJ 13 1 140 ZSH; 5 9 460 N3N+£ 11,6 2,4 650 Z4HJ
10 13 0 14 -200 NZNJZ 13 1 400 NSNQ 10 4 200 ZZH+§ 13 1 110 NZHQ 12 12 50 W4sjl 5 9 -100 ZlN—f 10 4 980 z6S=| 4,7 9,3 200 ZZH+§
15 4 12 2 140 ZZS+& 2 12 -50 ZSle 0 14 -200 Z4H12 8 6 100 WSS—f 11 12 50 W4sjl 9 -100 NZS—f 13 1 990 N6N= niet gespeeld
9 16 4 10 -100 ZSS—f 2 12 -50 N3N11 5 9 50 WZS—f 3 11 -50 Z4R11 15 14 12 50 W4sjl 2 12 -200 NZSJZ 5 9 460 N3N+£ 11,6 2,4 650 Z4H+
12 4 10 -100 ZSS—f 10 4 180 N2N+£ 14 0 620 Z4H; 3 11 -50 Z4R11 16 11 -400 W3N=‘ 13 1 140 ZSH; 13 1 990 N6N; 7 7 620 Z4H=
1 6 14 0 300 W4HJ3 2 12 -50 N3N11 2 12 -140 wzsil 0 14 -140 WSS; 11 -400 OSN; 5 100 W3R—£ 8 6 490 N3N+§ 2,4 11,6 -110 02K+
11 14| 10 4 110 z2s= 7 7 170 ZZS+£ 12 2 500 WSSQ- 8 6 100 WSS—f 13 11 -400 W3N% 5 100 W3R—£ 2 12 430 NSNQlO,l 13,9 -200 N2$4
NZ Ow| gift 21 NZ Ow gift 22 NZ ow gift 23 NZ OW gift 24 NZ OW NZ OW | gift 25 NZ OW gift 26 NZ OW gift 27 NZ OW gift 28 NZ OW
11 12 3 11 -150 O2N+1 13 1 100 W2R-19,3 4,7 -120 W2N=| 13,9 0,1 50 04R-1 13 14 6 8 100 OIN-1 14 0 1660 N6S!= 14 0 -120 W2N= 10 4 620 N4S=
6 8 -120 01N+f 13 1 100 03N114,7 9,3 -400 N3N-4 niet gespeeld 10 4 120 ZlN+f 0 14 -100 N6NJl 5 9 -400 W3N= 12 2 670 N2H!
14 11 3 50 OSle 8 6 -90 WAN=| 11,6 2,4 -110 OZH; 3,6 10,4 -460 W3N+2 5 13 -50 N2H-& 3 11 230 NZSJ4 5 9 -400 W3N= 14 0 730 ZSH;
13 11 3 50 OSle 2 12 -150 O1IN+21,3 12,7 -600 OSN; 7 7 -430 W3N+f 10 13 -50 ZZH-& 10 4 650 N4S+f 10 4 -180 W2N+2 5 9 50 OZH—f
9 11 3 50 OSle 4 10 -120 W1N+f 1,3 12,7 -600 OSN; 0,1 13,9 -800 N4H;-4 11 4 10 80 N1H= 12 2 690 N3NJ3 5 9 -400 W3N= 8 6 100 W4K—£
15 10 11 3 50 OSle 0 14 -210 OlNJ4 -1 -1 0 OlN+£ 10,4 3,6 -400 WSNJ 7 12 14 0 400 zZ3N= 3 11 230 NZSJ4 5 9 -400 W3N= 5 9 50 W4S—f
16 3 11 -150 02N+& 8 6 -90 WAN=| 13,9 0,1 -100 ZZR113,6 10,4 -460 W3NJ2 15 6 10 4 120 Z2N= 6 8 600 N3N= 12 2 -170 WiH+3 O 14 -200 Z4HJ
4 0 14 -400 OSN:T 8 -90 WiN= 7 7 -180 W2N+£ 10,4 3,6 -400 W3N% 3 16| 10 4 120 Z2N= 8 6 630 N3N+1 0 14 -430 W3N#1 2 12 -100 23H4




